297 .
EPS20KHF @ JFEmEMaH
%E2022.10 [20225£10 B —&BeE] JFE
;gg TR F— Uy b | 45 IE | =y ;gi.f Ty PRk
*2 A (R
IO PS-HBL. | PS-HBT | PS-HBS |PS-45 HBL HNT G PS-HF
/1 %1 1,190 1,030 50A 11,490 | M16X65(8)
1 1| 2,320 1,960 65A 15,400 | M16X70(8)
1172 4,170 3,370 80A 17,930 | M20x80(8)
2 6,160 4,930 100A 21,020 | M20X85(8)
21/5 10,380 16,330 8,190 13,250 8,110 125A 47,580 | M22x90(8)
3 19,820 30,160 11,220 22,690 10,950 G = [/ fl)
4 43,540 70,430 22,430 46,100 21,690
5 70,430 106,310 60,000 99,590
%1 3/4B. 1BIZZHAES T, (W7 = 1 /1)
2 o FLREEMTT., (Y- LAEA A L)
L f £ FROE SR =8 SR £ FRE
(L0 PS-HBRL | PS-HBRT | PS-HBRS | PS-HBU oo PS-HBRL | PS-HBRT | PS-HBRS | PS-HBU
2x11/2 5,500 4x1 84,250 18,900
21/5%11/2 7,730 4%2 84,250 | 18,950 | 18,900
21/5%2 7,730 4x2/5 | 44,370 | 84,250 | 18,950
3%3/4 10,010 4%3 44,370 | 90,350 18,900
3%1 36,390 5%21/2 99,090
3x2l/2 | 28,010 | 36,390 | 12,060 5%4 64,380
4X3/4 18,900 G Y /i)
(BT = 1 /1)
274 — W e @ .
BH20K7 5> JFE#FHAS4
20224 [#rEfl 20224£4 B ~] JFE
B osuy | mten
VO HF RN AR
50A 10,450 | M16X65(8)
65A 14,000 | M16x70(8)
80A 16,290 | M20x80(8)
100A 19,090 | M20x85(8)
125A 43,260 | M22x90(8)

(WAL = Y/ f1#])

43



